[ &#1]. SFZ N

NEEES &3 XA | SFAVDIFE: 0.01%H(H/cc] | As4e
07 202 (2)
#1 e A& 0.00224()/con]at nigt _
42 | =xzAe A= a1 0.00290(f)/cc0] 0} T
#3 | suuAs AT 0.0027H(f)/ccOlBt k]

44 S P | 2380 0.0022(1)/ccniel oler
5 | 9egpl | zze 0.005M(f)/ccnrer | olet |
#B XHOJ T T 0 (Al 2)) HESH 0.004M(f)/ccOlD | ole

47 HOIEHERT | ZZSH 0.005M()/ccOl | olgt
#8 HIEMET2 | 2SS 0.005M()/ccOl | olol
49 ZANE-SNRAA 074/100A1 0f > =
#10 |  DA=-HIISHEZ | 02H/100A1 OF e

¥ AESA(LOD) : (120,000/(VxN))%0.005 =n: i+ A0t . v:= TR

{0.0027H(f}/cc ~ 0.005H(f}/cc)

* FaNdlIeEE 4

INE JECE

=

H

»

P

b
=T
Ot
]
Ty
E
lo
M
31

fl

(e
g
e
1>
EC-

Al #HIEZ 19 20 2A 32 JIE

Ao
o
FH 58 0FE DS SHFNE 438,

A8 F EFY Wls 20| 5m0| &, A 0.25m~Zm2l 0|0 =AY
n, o L]

® BE. FAEAL

b |
—

44



(BERIR=ERE

B#

ClEIREFIS

S#

RKENS

P

RERIKS

E#

FRERIA

oH

RIS

L#

XS

ZREN

mrliE

R

2 @&

BiES

02 B.L0 iNBLOS

tRRE=

IYEKE BICHR)Y 2 (YEBTR IRNBXICE 2RTFRN

(TS RIY Re [2R &l



ave'0sE KR SI0RST

[SRE S=SN | RENRE BRT Y+ SERE]

()

[SiRd | BENRE BRTF v+ SRRR]

o [i=11:1-1 H] W
[ 13
T _. |; i
ﬂ..., | —_— = ARAR
b IBZENRS ; n
 pd [ [
M inEy
o @ m
= . o ltem} [Ew) o
0g 2 A " S
(FRER] el
| RER [=1
i ¥
= — . Toat 0z ICE
e el
400002 ki0
= A re=(BREIIRIEID Lo DT 2 B
hEBREICH i A0S =(BBE DRI v N06 1L
NEEe EREIY
] =
KEILe BRE
[1#] RitES B0z BL0 RAB102 KRES

VEKE BIcERX 2 YERTR SRNBIXICE REFRN

(SirS)els RIY s [CR

Rl



Al KR SRS

LESIDL KBS ORE
[SRE &ks |-207 SRk BRT Y+ TRRER] (SRl 82 1-2% SRk ART W+ 5RRR] [Tmk 8L 1-20v SR BART ¥+ SARR]
- 5 - = = W = I
i i
= " |
B | {Hm)
— L 5
AU L0 B EEORIS) uEL 28 ER FapE ’ X i " 2
e " B (Kt
} e - o
we
=] (hl |
A |
| |
k lirm) £
1 / ¥ ] § 8 [ E
¥ L] ) H mEE
e Irml
n
] ]
M _._nnh we ] (1] =
wEp Q=S NSRRI E006 RER Bl
[ i
£rn | at (HIER)
. o -
N.H_H'.-mu_nﬂ. B ! i, * BEN B
- T i T = L
X & EREIY — ~
13
wrRiE
KRILA (=R
L Es
BirEN 10z L0 B8I0Z YRRE

VEKR SIcHE)X 2 I(YERTER SRNYBNICE 2R2FRN

(SIXE BRIY BRE [CR

=)



